Test 1

Fri Feb 2

1.1-1.4, 2.1-2.2

5 Questions, with parts

Bring calculator

Bring music learplugs

Practice Problems on website

Example: Solve by Gauss-Jordan Elimination:

$$x + 2y + 3z = 7$$
$$3x + 3y + 3z = 15$$
$$5x + 7y + 9z = 29$$

$$\frac{R_{2}}{-3} \begin{bmatrix} 1 & 2 & 3 & 7 \\ 0 & 1 & 2 & 2 \\ 0 & -3 & -6 & -6 \end{bmatrix}$$

$$R_{1}-2R_{2} \begin{bmatrix} 1 & 0 & -1 & 1 & 3 \\ 0 & 1 & 2 & 1 & 2 \\ 0 & 0 & 0 & 0 & 0 \end{bmatrix}$$

$$R_{3}+3R_{2} \begin{bmatrix} 1 & 2 & 3 & 7 \\ 0 & 1 & 2 & 1 & 2 \\ 0 & 0 & 0 & 0 & 0 \end{bmatrix}$$

$$R_{1}+3R_{2} \begin{bmatrix} 1 & 2 & 3 & 7 \\ 0 & 1 & 2 & 1 & 2 \\ 0 & 0 & 0 & 0 & 0 \end{bmatrix}$$

$$R_{1}+3R_{2} \begin{bmatrix} 1 & 2 & 3 & 7 \\ 0 & 1 & 2 & 1 & 2 \\ 0 & 0 & 0 & 0 & 0 \end{bmatrix}$$

Circle the leading honzero entry in each y = x = x = 3 + 2 =

$$\begin{bmatrix} x \\ y \\ z \end{bmatrix} = \begin{bmatrix} 3 \\ 2 \\ 0 \end{bmatrix} + \begin{bmatrix} 1 \\ -2 \\ 1 \end{bmatrix}$$

Example: Solve by Gauss-Jordan Elimination:

Example: Solve by Gauss-Jordan Elimination:

$$w + x + 2y + 10z = 5$$

 $x + y + z = 2$
 $w + 3x + 4y + 12z = 9$

$$W + y + 9z = 3 =) W = 3 - y - 9z =) W = 3 - 2 - 9t$$

$$\chi + y + z = 2 =) \chi = 2 - y - z =) \chi = 2 - 2 - t$$

$$\left[\begin{array}{c} w \\ y \\ z \end{array}\right] = \left[\begin{array}{c} 3 \\ 2 \\ 0 \end{array}\right] + 2 \left[\begin{array}{c} -1 \\ -1 \\ 0 \end{array}\right] + 2 \left[\begin{array}{c} -1 \\ -1 \\ 0 \end{array}\right]$$

Example: Find the intersection of the two lines:

$$\vec{x} = \begin{bmatrix} -5 \\ 6 \\ 5 \end{bmatrix} + s \begin{bmatrix} 2 \\ 1 \\ -1 \end{bmatrix} \text{ and } \vec{x} = \begin{bmatrix} -5 \\ 4 \\ -1 \end{bmatrix} + t \begin{bmatrix} 1 \\ 1 \\ 1 \end{bmatrix}$$

$$\vec{x} = \vec{x}$$

$$\begin{bmatrix} -5 \\ 4 \\ -1 \end{bmatrix} + A \begin{bmatrix} 2 \\ 1 \\ -1 \end{bmatrix} = \begin{bmatrix} -5 \\ 4 \\ -1 \end{bmatrix} + t \begin{bmatrix} 1 \\ 1 \\ 1 \end{bmatrix}$$

$$A \begin{bmatrix} 2 \\ 1 \\ -1 \end{bmatrix} - t \begin{bmatrix} 1 \\ 1 \\ 1 \end{bmatrix} = \begin{bmatrix} -5 \\ 4 \\ -1 \end{bmatrix} - \begin{bmatrix} -6 \\ 5 \end{bmatrix}$$

$$A \begin{bmatrix} 2 \\ 1 \\ -1 \end{bmatrix} + t \begin{bmatrix} -1 \\ -1 \\ -1 \end{bmatrix} = \begin{bmatrix} 0 \\ -2 \\ -6 \end{bmatrix}$$

$$21 - t = 0$$

$$To \quad \text{Be Continued ...}$$